Office of the State Comptrollier

PAYROLL BULLETIN

Changes in New York State, City of Bulletin No.’
New York and City of Yonkers P-474
Withholding Tax

Date

March 13, 1986

New York State, City of New York and City of Yonkers withholding taxes
will change effective for Administration payroll checks dated April 2, 1986 and
Institution payroll checks dated April 9, 1986.

The changes include:

1. The deduction allowance table has been changed. The deduction
allowance for State and City of Yonkers is $86.50 for married
taxpayers and $71.20 for single taxpayers. The New York City
deduction amount for both married and single taxpayers is $78.80.

2. New tax tables have been established reflecting a decrease in tax rates.
Copies of pages from the revised Tax Booklet are attached.

City of New York non-resident and City of Yonkers non-resident tax
tables have not been changed.

Questions concerning this Bulletin should be directed to the Planning
Office at (518)  474-1246.

Attachments
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NEW YORK STATE, CITY OF NEW YORK and CITY OF YONKERS
SPECIAL TABLES FOR DEDUCTION AND EXEMPTION ALLOWANCES

Appiicable to Method Il
for New York State, see pages 15- 16

for City of New York, see page 26

for the City of Yonkers, see pages 42 - 43

TABLE A. Deduction Allowance Table

e

NEV_V YORK STATE AND CITY OF YONKERS

Pa_vi-oll Period |
_ Weekiy - Biweekly Sefnirnonthly : Monthlv " Daily Annual
Single $35.60  $71.20 $77.10 $154.20 $7.70 ‘ $1,850.00
Married 43,25 86.50 93.75 187.50 8.85 2.250.00
NEW YORK CITY
. Payrol! Peried

- Weekly Biweekly = [ Semimonthiy Monthiy Daily Annual
Singls ar $39.40 $78.80 $85.40 $17080 $7.90 $2,050.00
TABLEB Exemption Allowanes Table

Based on & full year exemption of $850

* Payroll Period
 Weekly
Biwsekly
Semimonthly
Monthly .
Guarterly
Semiannual
Annual _
Daily or miscelianeous -

* - Amount of one exemption

$ 16.50

33.00
35.50
71.00
212.50
425.00
850.00
325

TABLEC "Adjustmant For Difference Between Federal and State Exemption Allowancas

For erripleyers who elected to use the Federal émmpﬁon amounts in computing wages after exemptions, the following adjust-

ments corrects for the difference bstween Federal exemption of $1,080 and the State or City axemption of $850, according to
the particular payrotl period. -

Multiply the amount below for 1 axemption by the number of exemptions claimed. The product is to be added to the wages
after exernptions computed with the Federal exemption, to correct for the lower State or City exemption aliowances.

Payrolt
Period

Adjustment for each

Federsl exemption

Weekly

Biweekly
Semimonthly

Monthly

Quarterly

Semiannual

Annual

Daily or miscetlaneous

$ 440
8.80
9.60

19.20
57.50
115.00
230.00
20

Multiply the amount to the left.
(for 1 exemption) by the number
‘of exemptians. Add the preduct
to the Federally computed wages
after exemptions.




Method |!

N

NEW YORK STATE

TABLE It A = WEEKLY PAYROLL

" SINGLE

This method s based upon applying a given percentage to the portion of
the wages (after deductions and exemptions) which falls within a2 wage
brackst and adding to this product the glven accumulated tax for ail lowar
tax brackets. After subtracting tha amount of deductions (from Table A)
and the amount of saxemptions {from Table B) an page 14 one of the
following tables IS used, depending on the applicable payrell period.
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EXACT CALCULATION METHOD
TABLE || E — DAILY PAYROLL

- If Wages ere [ The AMOUNT e be WITHHELD is the SUM of:
{after deduction :
lndunmp’ticmﬂ This'
mount : ’ f.';d:.' Wages
Line] At |Butiess | (tax- | PLUS! This OF o (eaonaiiis)-
No.| Lsast [ than lowaer Parcent : over this amount
rckets)
Col. 1} Col.2-} Cal. 3 Col. 4 Col. 5
1($0]%19 $.00 | PLUS 2% |EXCESS QVER -2
2} 18 58 387 " 3% [0 18
a 'sa 95 1‘5‘ - 4% a» "w 58
4] 56 | 135 | 3.08 * 5%. - o 26
51135 173 5.00 N §% ' " 135
8l i73 | 212 7.31 . 7% . N 173
7| 212 |- 280 | 1000 * 8% " - 212
8| 260 | 308 13.85 ' 9% - . 260
9{308 | andup | 1817 [ * 2.5% . * 308
TABLE il B -~ BIWEEKLY PAYROLL
1{$0|% 38 s.ao PLUS 2% |EXCESS OVER $0
2| 381 118 v 3% O N 38
T3] 118 §. 192 .oa " 4% . N 115
4| 192 1 268 6151 5% N N 192
5] 269 | 3486 | 1000 6% D N 269
6] 346 | 423 1462 ~ 7% & : 346
7| 423 ] s19 | 2000 8% = B 423
8519 | &15 | 2769 - _ 9% N . 519
9616 | andup | 3638 - A 818
TABLE il C — SEMIMONTHLY PAYROLL
1|8 0|% a2 $.00 | PLUS 2% [BXCESSOVER|  § 0
2! a2} 125 .83 " 3% I 42
3125 | 208 3.33 il 4% " " 125
4| 208 | 292 | 657 " 5% = 208
5| 292 375 10,83 " 6% " o - 292
6! 375 | 488 | 1683 | - 7% ' . 378
7] 458 | 563 2187 - 8% O N 458
B| 563 | 667 | 3000 - 8% . & 563
9| 867 | andup. | 3p38) 95%| N 687 .
TABLE 11 D — MONTHLY PAYROLL .
118 ols 82 $.00| PLUS| 2% |EXCESSOVER $o0
2! 83) 250 | 187{ " 3% TR 83
3| s0] 417 B8.67)- " 4% g " 250
4] 417 583 | 1333 - 5% N N 417
5| 583 750 | 21.67] - 6% " C 583
6l 7501 s17 | 3167 *“ 7% i N S0
71 917§ 1,128 | 4333) 8% " ” ‘917
81,125, 1,333 | 60.00f ~ 9% " ’ 1,125
311,333 | andup | 78.75 ' 9.5% . * 1,333

If Wages ara The AMOUNT to bs WITHHELD is the SUM of:
{after deduction
and examptions)| This
- AMmQuit Escon of Wages
Line| At [Butless | (tax- [PLUS| This or o i i
No.| Least | than Igwer Percent qver this ameunt
brackets}
Col. 1) Cot.2 [Col.3 Col. 4 Col. §
1% 0!1%4.00 |$.00 [PLUS| 2% |excEssover $0
2| 4001150 | .08 | * | -3% - 4.00
3 |11.50 | 19.00 a1 ” 4% B . 11.50
4 119,00 |-27.00 82 o 8% ' . 19.00
5 127001 34.50 1.00 . 6% N . 27.00
B |34.50 | 42.%0 1.46 " 7% b - 34.50
7 {4250 | 62.00 | 2.00 " 8% N . 42.50
8 |52.00{ 61.50 2.77 " 9% = " 52.00
2 {81.50] andup 3.63 o 9.5% ol . 61.50
" ANNUAL TAX RATE SCHEDULE
I ANNUAL . :
WAGES laftar Tha ANNUALIZED TAX iz the SUM of:
deductions snd
cz‘:ﬁ'v:u:n.s? E"’;::u '::“"
Lineg At (Butless | This PLUS This oF Annugiized Py
No.| Lesst | than |Amount Parcent] ower this Amount
Goi. 1| Col. 2 | Col. 3 Col. 4 Col. §
118 0/{$1,000 $ .00iPLUS 2% | EXCESS OVER $ 0
2.] 1,000} 3,000 2000 3% . 1,000
3 {3,000 5,000 80.00| * 4% . " 3.000
.4 | 5,000 7,000 160.00 " 5% S 5,000
§ | 7,0000 9,000 260.00; " 6% |- ” " . 7,000
.8 | 9,000| 11,000 | 380.00f 7% N B 9,000
7 [11,000] 13,500 52000{ - 8% ” " 11,000
8 |13,500] 16,000 72000 * 9% e 13,500
2. [18,000 andup | 945.00( * 9.5%. ' ' 16,000

The stens In computing the amount of tax to be withhaeid are as follows:

EXAM

{1) Dstarmine the amount of decuction allowanca (from Table A,
on page 14).

{2) Muitiply the amount of one uemptlon (from Tabie B, on page
14) by the numbar of axamptions claimed.

{3) Add the amount of deductions obtained In Step [1) to the
amount of sxemptions obtained In Step (2).

{4) Subtract the amount of daductions and sxemptions obtainecd In
Step (3] from the emplovas’s gross wages,

(5) Using the proper table In tha Tapie |1 series {dapsnding on the
particular peyroll paried), fing the appiicabie line or which the
wrges after deductions and.axemptions In Siop (4) are iocated In
columns 1. and 2,

{6} Subtract the amount ir column 5 of this llne from the amicunt
of wages after deductions and exemptions in Step (4).

(7) Muitlply the remainder obtained in Step (6) by the percentage in
columm 4 af this line. .

(8) Ada the product n Stap {7} to the amount In cotumn 3 of the

- applicaiia llna. This is the New York Stats tax to be withheld for
the particular payroil pericd.

PLE 1: (Weekly payroil)

Weskiy gross pay of $200, Singla, with 2 sxemptions clajimed:.

(1
2y
(33
M

(5

(6
7
(3

Daductlon allowance (from Tabis &, page 14)
$16.50 (from Tabia 8, page 14) x 3 = $49.50
$325.60 + $49.50 = $85.10

$200 — 485,10 = $114,90

Line 4 of Table |1 A Is appiicable. ($114.90 i3 betwean $96
and $135)

= $35.80

$114.90 — 396 = $18.90 '
$18.90 x 5% {.05) = $.95
$.95 + 33:08 = 34.03 (New York Stats tax to be withhaid)

EXAMPLE 2:. {Semimonthiy payrodl)

Seamim
. (1)
(2)

3)

© (4)
5)

(§)
(7}
(8}

enthiy grose pay of £308, Single, with 1 exsviitlon clalmes:
Daduction allowence (from Tahle A, page 14y =.$77.10
$38.50 {from Tabia B, Pags 14) ® 1 = 3550~
§77.10 + $35.50 » $112.80°
$300.00 —$112.60 = §187.40 .
Line 3 of Tabis LI C I3 appiicatle {$187.40 Is between
$12% and $208)
$187.40 — 8125 = §$62.40
$62.40 % 4% {.04) = $2.50
$2.50 + $3.33 = £5.83 (New York State tax to be withhejd)
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Method 1)

NEW YORK STATE
MARRIED

This method !s basad uﬁon apalving a given parcantage to ths portion of

——

EXACT CALCULATION METHOD
TABLE Il E ~ DAILY PAYROLL

the wages (after deductions and exemptions) which falls within a wage If Wages ars The AMOUNT to be WITHHELD is the SUM of;
braciket and adding to this product the given accumulated tax for ait lower (aftar dlduc}mnu = "
tax brackets. After subtracting the amount of daductions (from Table A) and exemptions) Ar:""'m _ xeow of Weges
and the amount of exemptions (from Tabla 5) on pade 14 one of the . ek \ {ster deductions
. i . I, pariog, =& At |Butless | itax- [PLUS| This OF. " enpiptions)
following tables Is used, depending on the appilcable’ payroll. pariod. No.| Lesst | than bl :cw::“, Parcant . peelliiatio
TABLE || A —~ WEEKLY PAYROLL Col. 1 | Cal. 2 | Cai.3 Col. 4 Col. §
' i . 1{$. 0|s 75c|[s .00 jPLUS 2% |xxcwse cven 0
. (.fltf.m'g:::;;:m The AMOUNT tc be WITHHELD is the SUM of: 2| 780 | 1908|138 | w 3% " " 7.50
"land exemptions)| This o . A3Al9.00[ 23.00] B0 | = 4% | o~ o= 19.00
Amount ‘ Exews of Waga 4(23.00 | 27.00] .68 " $% » » 232.00
Line(- At {Butims | {tax- | PLUS | This OF |l dedwetors 513700 | 3880 85 | 7 N R 27.00
- No,| Least | than- |-lower | Pareant aver this amount 8134.50 42.50| 1.31 " 7% ki ” 34.50
- rackets} . 7laz:mp [ sz.00] 1.35 ” 8% » " 42.50
Cat. 1] Col.2 | Col. 3 Col. 4 Col. 5 a/s2.00 | 6150f 282 [ ~ 9% | = - 52.00
: §[61.50 {and up | 3.48 . 95% | 7 s €1.50
1] 3 0] % 33 $ .00|PLUS 2% | =xcuss ovan $ 0 .
- 2 35 96 - » 3* » o 3. ~ )
3 7] 115 2.50 ” 4% ” " 96
4| 118 135 3.27 " 5% o 115
5| 135 173 4.23 " 6% " " 1ag )
S =2 o e L. - ANNUAL TAX RATE SCHEDULE'
L1} ' U] L
8| 260 | 308 | 13.08] 9% . n 260 Y aGs Al The ANNUALIZED TAX is the SUM of:
9| 308 | and up 17.401 » 9.5% e 'z 308 deductions ang .
- sxemptions) | ) !"‘;:“fa:'::”'
Ling- At [Butless | This PLUS This oF Annuslized Py
No.| Least | than |Amount Parcent : vir this Amaunt
Col. 1| Col.2 | Col. 3 Col. 4~ Col. §.
) Loodl 3008 | fadol o] 5 [T 3.8
. ) = a0 » N » - = 2,
TA_ELE fl B - ‘WEEKLY PAVHOLL 31 8,000 5.06‘6 130.00 w A% v [ 112 5,000
1| a0 s 77 3 .00 |PLUS 2% |exazss oven 30 41 6,000 7,000 | 170.001 - 5% i Ed 8,000
2( 77| 192 .54 " 3% . 77 S| 7.000{ 9,000 | 220.00{ &% " w 7,000
3| 192 231 580 O g LT 192 61 9,000] 11,000 | 340.00{ " 7% i "’ 9,000
47 231 | 289 654 " 3% roow 231 T+ 7Q1.000{ 13,500 | 480.00] * 8% [ ” 11,000
5 zﬁ 346 8.46 W 6% . 73 [ 259 8 3.5°ﬂ 18,000 380.00 " 9% L] b 13,500
S} 346, 423 | 13.08| - 7% *r 346 9[16,000( snd up | sos.00 " 9.8%( " " 16,000
71 423 519 1846 | ™ - 8% .o 423
a4 519 615 26.15] = o% "oow 519 . :
3| 615 [and up 34.81] 7 9.5 % [ aaan] al3 The steps in computing the amount of tax to be withhaid are as follows:
: Stap (1) Dcttrmll;o the amount of deduction allowancs (from Table A,
on page
{2) Multipiy !h; amount- of ane sxemation (from Table 8, on page
14} by the number of examptions claimed. -
(3} Add the amaurt of deductions obtainad In Step (1) to the
amoaunt of sxamptions abtained in Step (2). N
v - (4) Subtract the amount of deductions and exemptions obtalned In
- lthon (3) tram the omplo?fu's gg}an walglls. foa ¢ .
! -— AT sing the proper table in the Table | series deapanding on the
rABLE '" c SEM|MONTHL'Y _PAYRO"—'I-'r particular payroll paried), find the appiicabie line on which the
1| s o| s 83 $ .00PLUS 2% |Excmss ovsn $0 wages after dsductions and exemptions in Step (4) are iocated in
2231 208 N 3% — 23 (5) Stbtract the 2 nt In column 3 of this tne from th
R © amount in column 5 o s lina frewm the amount
i ggg %gg g:g :: g: :: :: gg‘ of wages after deductions and exemptions in Step (4).
L 9 {7 Multiply the remainder obtained in Step (6) by the percentage in
5] 292 375 2,17 " &% roow |2 colummn 4 of this line. i
8| ars 488 14,17 " 7% e 373 {3} Add. the product in Step (7) to the amount In column 3 of the
7| asa 883 20.00| " a% D 458 applicabie line. This Is the New Yori State tax to be withheld for
- 8| s83 667 28.33| - 9% oo 583 the particular payrolt period.
567 | and up a7.7 L oo 7
9 ancue ) ki 58 EXAMPLE 1: (Waskly payrod)
Weskly gross pay of $400, married with 2 exemptians claimed
(1) Ueduction ailowarics (from Tabie A, page 145} = $43.25
{2) 818.50 (from Tabie 8,.page-14)x 2 = $33.66
(3} 943.25 + $33.00= $76.25
(4) $400— 978,258 = $323,7% .
{5) Line 3 of Tabiv |1 A I3 applicabls ($323.75]s over $308)
TABLE 'l D — MONTHLY PAY (6) §323.75 — 3308 = $15.78 :
LEND NTHL AYROLL (7) $15.75 x 9.5% (.095) = $1.5¢
1% 0| 3187 $ .001PLUS 2% |exesss ovir $0 {8) $1,50 + $17.4C = $18.90 (New York Stata tax to be withreld)
2] 187 417 3.33 " 3% - noom. 167 ’ .
3| 417 500 | lo.83 » 4% .. 417 EXAMPLE 2: (Monthiy payroll)
4! 500 533 14,17 " 5% "oon 500 Maonthly gross pay of $1100, marriec with 1 sxemption claimed
- S| 583 750 18.33 g &% wooe 583 (1) Deduction allowance (from Tabie A, page 13) = $137.50
6| 750 917 28.33 " 7% voom 750 (2) $71.00 (frony Tabie B, page 1431 x 1= 871.00
7] 917 1125 40,00 T} B, T 917 (37 $187.50 + $71.00 = $258.50 -
41,1258 1,333 687 » 9% noom 1,128 (;) $1100--3258.50 = $841. 50
+ T ™ . (8) Line 6 of Takie L1 O i3 applicadie ($841.50 Is bstween
9 1,333 | and up 7542 2.5% "oow 1,333 $750 and $937§ .
(6) $841.50 — 750 = $91.50
. (73 $91.50 x 7% (.07) = $6.41
(8) $6.41 +$28.33 v $34.74 {New York State Tzx to be withhsid)
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Method I1 CITY OF NY — RESIDENT TAX &£XACT CALCULATION METHOD

'n-qs method s pasea upon appiving a given percentage to the pe;‘tlon of
the wages (after deductions and exemptions} which falls within .4 wage
bracket and adding to this product the glven aceumulated tax for alt lower

TABLE I1 E - DAILY PAYROLL

f Wages are The AMOUNT to be WITHHELD is the SUM of:

after deductionst
tax bracksts. After subtracting the amount of deductions (from Table A) and exemptions}| This
,“7" the amount of sxemptions (from Table B) on page 14 ons of the lAmount Excess of Wagee
ving tables Is used, depanding on the appilcable payroll pertod. u,-..‘ At |Butless | [tax- |PLUS| This fa].] lafter daductions
. and axemptions)
No.|teast | than | lower Percant ower this amount
©___TABLE Il A —WEEKLY PAYROLL A ";‘:“’3‘” _ — e
l T T T e T of. al. . . R
If Wages are The AMOUNT to bs WITHHELD is the SUM of: : -
(atter deguctions—- . - 118 05400 |$.00 |PLUS| 0.9 |EXCESSOVER 0
and exemptionsl| This . 2 | 400 11.50 03 5 " 1.4 - 4.00
Amount [rons of Mot T3 [11.50 | 1900 | .14 | - 1.8 % | 11.50
Line At [Butiess | (tax- |PLUS| This OF |and sxempriona) 4 119002700 | 28 | "~ | .20 Yo" 19.00
No.| Least [ than blow:cl _ Parcent . over this 5 ﬁﬂo 34.50 L) 0 53 T 37.00
el G : : 6 13450 4250 | &1 { ~ | 25 S 34.50 -
Col. 71 Col.2 | Cot. 3 Col. 4 Cal. 5 7 {42501 5000 | .80 " 27 | o 42.50
11$ 04 819 | $.00 [PLus| 0.9 [excessover| $ 0 8 _{50.00 | 67.50 | 1.01 2.3 50.00
2 19 58 17 N 1.4 " N 19 9 (57.501 65.50 | 1.23 " 3.1 oo §7.50
3] s8 96 71 " 18 " Lo [T:) 10 |86.50 13.00 | 147 |-~ 3.3 N . 85.50
41 96 136 1.40 N 2.0 ** Sc 96 11 |73.00 | 81.00 | 1.73 - 3.5 o * 73.00
5| 135 173 217 | ~2.3 " " 138 12 [81.00 | 88.50 | 2.00 . g |-~ Sl 81.00
6| 173 212 3.08 - 2.5 oL 173 i3 |g98.50 | 9600 | 229 | © 40 ' . 88.50
T 212 250 | 4.02. ” 27 - “ 212 14 {9800 andup | 2,60 B 4.3 B B 96.00
g ;852 %33 :-‘1’;' - 3’-f eyl 12S0] < __ANNUAL TAX RATE SCHEDULE
10| 327 | 385 | 737 | - 33 . 197 If Annual Wages| =~ The ANNUALIZED TAX is the SUM of: .
AR I i exemmotide Evcrs of Tuxacie
.. - 228 - i : - = Ling At {But less 'I"his This Annuai u.:
m i = = '“"“'i,,,‘ -
:i :;12 a":azp :;;g e :_g " ” :;3 No.| Least | than [Amount PLUS Percant CF over this Amount
: Col.1] Col.2 [ Col. 3 Col. 4 Coi. 5
___TABLE i1 B — BIWEEKLY PAYROLL 1% 0§i$1000| $.00 PLUS| 09 EXCESSQOveRr; & 0
1($ 0[s38 |[$.00 Pus| 09 |excessover] $ o0 -2 | 1,000} 3,000 9.00 14 | - 1.000
21, 38 118 o] ' 1.4 " ' 38 3 | 3,000] 5,000 | 37.00 ‘: 1.8 * ': 3,000
3[ 115 | 182 | 142 [ ~ 1.8 E B 115 4 | 5000 7.000) 73.00 [ ° 2.0 S 5,000
ai192 | 269 | 281 | - 2.0 . 192 § {7000 9,000 |113.00 | © | 23 o 7,000
5| 268. | 346 438 | " | 23 ;0 269 6 | 9,000]| 11,000 159.00 | * 25 3 - 9.000
| 346 423 812 | - 2.5 ** l 348 7 111,000 13,000 { 209.00 - 2.7 . it 11.000
223 | 500 1 Boa | | 237 —— oo 8 [13.000] 15000 |283.00 | ~ | 29 . 13,000
500 577 1012 - 2.9 - ol 500 9 15,0007 17,000 [321.00 " 3.1 ” N 15,000
577 | 654 [1235 | ~ | 3.1 e s 10 117.0001 19,000 (38300 | * | 33 | -~ - 17,000
0] 684 | 731 (1473 | ~ | 33 " 654 11 119,000( 21,000 (44000 ~ | 35 . 19,000
TN R B T I Y 3 B 1 12 [21.000) 23,000 (519.00} ~ | 38 | ~+ -~ 21,000
12| 808 888 19.96 " 3.8 ' N 808 13 {23,000} 25,000 | 595.00 ': 4.0 ‘: : -1 - 23,000
13] 885 | 962 | 2288 | 2.0 i : 236 14 25,000 _andup §75.00 4.3 25,000
14] 962 andup 2.5'96 43 862 The steps in computing the amount of tax to be withheld are as follows:

: JABLE i C ~ SEMIMQNTHI. Y PAYROLL

$0 |5 42 $ .00 PLUS| 09 EXI&ESOJ\{EH $0

1
21 42 125 - .38 - 1.4 42
3] 128 | 208 1,54 . 1.8 0 B 125
N ,#&__208 292 3.04 " g:o " o 208
5 292 | 378 4,71 N 23 . B 292
B{ 378 | 488 8. B 2.5 e ' 375
7| 458 | 542 8,71 27 . . 458
8| 542 | 82% | 1096 . 29 " ’’ 542
9{ 628§ 708 [1338 | * 3.1 . B 625
10] 708 { 792 [ 1596 - 3.3 " - . 708
11] 792 | 8718 | 18.71 * .1 3s . . 792
121 875 ) 958 | 2163 . 2.8 ” - 875
13| 958 ) 1,042 | 24.79 & 4.0 N . 958
1411042 andup | 28.13 N 43 . - 1,042

TABLE ! D — MONTHLY PAYROLL

1| $ 0383 |8.00]|Pus| 09 excessover] s 0
2| 83| 250 | 78] = 14 | v g3
3] 250 417 | 308 | - 18 B 250
4/ 417 se3 | 608 | ~ | 20 A 417
5{ 583 750 | 942 | © | 23 TR 583
gl 750f 917 |1326.] = | 25 | ~ - 750
7 917 1083 [1742 | » [ 22 |~ - 917
811,083) 1260 |2992 | ~ | 28 | ~ - 1,063
"280| 1417 2696 | ¢ | a4 v F 1,950

i 417] 1583 {3192 | ~ | 33 . 1417
V., 1,583] 1,760 | 3742 [ * | 3.5 - 1,583
1211.750| 1317 {4325 | ~ | 38 — 1,750
1311,917[ 2,083 [49.58 | ~ | 4.0 & 1,917
1412083 andup |5625 | ~ | 43 | ~ ~.{ 2a3

Step

(1) 'Determine the amount of applicabie deguctions (from Table A,
on page 14). -

(2) Multiply the amount of ona exemption (from Tabie B, on page
14) by the number of exemptions claimed.

(3) Add the amount of deductions obtained in Step {1} to the
amount of exemptions obtained in Stap (2).

(4} Subtract the amount of deductions and sxemiptions obtalned In
Step (3) fram the emiployea's gross wages.

(3) Using the proper tabie in the Tabia 11 secies (depending on the
particutar payrotl period), find the applicabie line on which the
wages after deductions and exemptions In Stap (4) ara located in
columns 1 and 2.

{6)Subtract the amount in column 5 of this line from the amount
of wagss after deducticns and exemptions in Stap (4).

{7) Multiply the remainder obtainad in Steg (6) by the percantags in
column & of this line. ) h

{8), Add ths product in Step (7) to the amount In column 3 of the
applicadie line. This Is tha City of Mew Yark tax to be withheld
for the particular payroil psricd.

EXAMPLE 1: (Waekly payroll) =
Weakly gross pay of $200 with 3 éxemptions ciaimed:

(1}

FXA
Teal
{1}

Dsduction allowance (from Table A, page 14) = 339,40
$16.50 (from Tabie B, page 14) x 3 ~ $48.50

$39.40 + $49.50 = $848.80

$200.00 —388.90 = 3111.10

Line 4 of Tabte |1 A Is applicable ($111.10 Is betwesn

$96 and $135 an Tabie |1 &)

$111.10—396 = 315,10

$15.10 x 2% (.02) = $.30

$.30 + $1.40 = $1.70 (City of New York tax to be withheld)

MPLE 2: (Semimonthly payroll)

maonthly sross pay of $300 with 1 axemption claimes:
Deducticr allowanca {from Table A, psga 14y = $85.40
435.590 {trm Tabile 8, sogs 14) x 1 = $35.50
385,40 + $35.50 = $126.80 - '
$300.00 —$120.90 = $179.10
‘Line 3 of Table 11 C Is applicable ($179.10 is batween
$125 and $208 on Table || ¢}
$179.10 — 125 = $54.10 )
$54.10 x 1.8% (.013) = §.97
$.97 + $1.54 = 32,51 (City of New York tax to ba withheld)
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Method |1

This methad dupiicates the steps used In calculating the New York State

EXACT CALCULATION METHOD
TABLE |l E — DALILY PAYROLL

I L T g L e L] “{fWagesare | The AMOUNT to be WITHHELD is the SUM of:
inpiying a given pearcentage to tha portion of the wages {after deductions {afrar deductions!
and aexemptions) which falls within a wage brackst and adding to this and axemptionst| This
product the given accumulated tax for all lower tax brackets. After sub; ‘ \Amount ‘g_,;“.. “.df Wages
tracting the amount of deductions (from Tabie A} and the amount o ; . |Prus! This OF ifter deductions
exemptians (from Table B) on page 14, one of the following tables Is used, ';j:_" L:atst .B':,:.':” ,L‘:;, Ly p.m;m x 'l::"m:
degending on the applicable payroll Fnrlod. brackets) .
TABLE 1] A — WEEKLY PAYROLL Col. 1| Col. 2 | Col.3 002'9-6 = _ . Lak. 5
Wagesare | The AMOUNT 1o be WITHHELD i thasuMat: ) | 58| 5330 | 893 |PLUS| 2 |EXCESSOVER| B o
(after deduction - " e : = = yr) = = 150
and exemptions}| This 3 |11.50 ] 18.00 31 - " i
!hl:"ﬂlmq Wagn 4 |19.00 | 27.00 52 ' . 5% : 19.00
But less PLUS | This QF ) 5 [27.00 | 34.50 1.00 | " 8% ' oy 27.00
than Percent over amaone 6 13480 (4260 | 148 - | 7% | v - 34.50
7 |42.50 | 52.00 2001 *~ 8% oo 42.50
«Cot, 2 . Col. 4 . Coi. 5§ -8 162.00 | 61.50 2.77 ' 9% ' " 52.00
1180|819 | $.00 |PLUS| 2% |excessoveR| S O 16150 andup | 3.63 95% ] * §1.50
2 ,9 Js-g -33 ) " 3% " " 19
3| S8 28 1.54 - 4% * " &8 ANNUAL TAX RATE SCHEDULE
4..96 L 135 3.08 L 5% — e H ANNUAL The ANNUALIZED TAX is the SUM of:
§|135 [ 173 500 " g% G ' 133 WAGES (after i ;
8] 173 212 7.31 " 7% hid ' 1 dsductions and : Excoms of Tansbi
7] 212 JEBO- 10.60 7] 8% T T 2 2 . sxemptions) ] . Pﬂﬂiﬂ‘.ﬂf ._
8| 280 308 | 1388 " 9% " " 2680 Line “At (Butless | This |, | This oOF Annuslized Pay
) 3—63 and Ep 18.17 " 9.5% 7] [ 108 No.| Lesst than Amaount Parcant . Ovar this Amount
- Col.1| Cai. 2 | Coi. 3 Cal. 4 Col. 5
1% ofs1000| $§ .o00|PLUS| 2% |EXCESSOVER $ 0
2 | 1,000f 3,000 20001 ¢ |- 3% N - 1,000
-3 | 3,000] 5,000 80.00| 4% " * 3,000
4 | 5000/ 7,000 160.,00{ " 5% e 5,000
I g5 | 7.000| 9,000 260.00| - 6% [ " * ,000
TABI.ES ||£ — BIWEEKLY PAYROLL - 2 | 0000| 17000 | 38000 ~-| | -+~ | . goon
11501838 00 [ PLUS| 2% |EXCESSOVER 0 7 |11,000i 13,600 | 520.00| " 8% o 11,000
2] 38 | ; 5 3.;; - 3: —_— 111!: .8 |13.500( 18,000.| 720.00( * 9% " 13,500
3| 115 | 192 . . o . 9 16,000 andup | 946.00 8% " 16,000
al192{ 260 | B38| ~ | swl ~ -v 192 . == 21 S
5| 289 346 10.60 ” 8% - * 269 . . _
613468 | 423 14.82 - 7% ' ‘ 3486 The steps In computing the amount of tax to ba withhaid ara as-follows:
2| 423 519 20.00 e Toe% | [z 423 Stap (1) Determine the amdunt of deduction allowancs {from Tabie A,
38519 18 27.69 - 9% _ " 519— {2) gi:'ulpt}grylt‘l!.e amount o.l' onea axemption {from Table 8, on paga
9! 675 | andup | 36.35 " 9.5% - v 615 14) by the numbsr of axamptions claimed.
- . {3} Add the amatunt of deductions obtained in- Step {1) to the
0 amount of axemptions obtained in Stap (2).
{4) Subtract the amount of deductions and axemptions obtained in
. Step-(3) from the employea’s gross wages,

(3) Using the propsr tabls in the Tabie || saries (depending on the
particular payroll periad), find the applicabie line on which the
wages after deguctions znd axsmptions in Step (4) are iocated in

! columns 1 and 2,
TABLE 11 C -~ SEMIMONTHLY PAYROLL (6) Subtract the amount In column 5 of this line from ths amount
p oy of wages after deductions and axemiptions in-Step (4).
11$.0.1§ 42 §..00 PL'!JS . 2% 9( OVER $ 40 {7) Muitiply the remainder obtainad in Step (6) by the parcentage in
2] 42 | 128 83 3% 2 column 4 of this line.
3| 125 208 3.33 " 4% ” " 128 {8) Add ths product in Step {7) to the amount In column 3. of ths
4| 208 | 292 R 5% v 208 - applicable line,
— i 7] s re e (9) Muitiply the sum [n Step (B) by 15% (,15). The product Is the Ci ¥
g ggg igg ?Iggg o '—';’3: - " ggg of Yankers tax to bs withheld for the particular payroll pesfe.
71 d68 | 563 | 21.87| 8% | . 458 .
8| 563 | 667 | 3000] 9% RN 563 EXAMPLE 1: (Waekly payroll)
9| 667 | andup | 39.38 ” 9.5% " " 667 Week!ly gross pay of $200, Singie, with 3 axemptions claimed:
" {1} Beduction allpwancs (from Tabis A, page 14} = $35.60
{2) $16.50 (from Tabie B, page 14} x 3 = $49.50
(3) $35.60 + $49.50 = $85.10
(4) %200.00 — $85,10 = $114.90 N
(5} Line 4 of Table |1 A is applicabie. ($114.90 |5 betweern 396
o' and $133)
{6} $114.90 — $96 = 818.90
TABLE 1 D — MONTHLY PAYROLL (7) $18.90 x 5% (.08) = $.95
1/ o0js 8 $ .00 PLUS 2% |[EXCESS OVER $20 (8) 9.8 + $3.08 = $4.03 (State Tax to be withheid)
2 a3 250 167 3% " ' g3 (9) $4.03 x 15% [.15) = $.50 {City of Yonkars tax to be withheld)
4 87 " 4% e 250 -
i 3152 5;; 12_33 " 5% re -' 417 EXAMPLE 2: (Semimonthiy payroll)
750 1687 e 8% 1w 0 583 Semimaonthly gross pay of $300, Single, v ith 1 exemption cizimed:
g ?83 817 21 .87 ve 7% o 750 (1) Daduction allowance (from Tabte A, page 14) ~ ¢¥7.10
0 : — (2) $35.50 (from Table B, pags 14) x 1 = $35.50
7 9171 1,125 | 43331 - &% .o 917 {3) $77.10 + $35.50 = $112.60
81,1261 1,333 | 60.00 S% 1,125 {4) $300,00 — $112.60 » $187.40
911,333] andug | 78.75] 9.5% * * 1,333 {5) Line 3.0f Table iIC Is applicadie. ($187.40 is betweon

$125 and $208)
{6) 3187.40 — 3125 = $62.40
(7) 362,40 x 4% (.04) = $2.50
{8} $2.50 + $3.33 = $5.83 (State Tax to be withheld)
(9) $5.83 x 15% (.15) = $.87 (City of Yoniers tax tc he withhelg]
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EXACT CALCULATION METHOD
TABLE i E ~ DAILY PAYROLL

tax, to which Is then apptied a 15% surcharge. |t Is basad upon applying It Wages are -| The AMOUNT to be WiTHHELD is the SUM of:
& given perceantage to the portion of the wages [after deductions and {after daductions!
axemptions) which falls within a wage bracket and adding to this product and exemptions)| This
tha given asccumulated tax for all lower tax brackets. After subtraciing Amount Excass of Wages
the amaount of deduction (from Tabie A} and the amount of exemptions Linal A But |l [ PLusl Thi {after deductions
{from Table B} on paga 14, ana of tha following tabies Is used, depend- ingl At |Butless | lax- u is ar snd examptions)
[ng on the applicable payroll peried. No.| Lesst | than lower . Parcent aver thig amaunt
: brackets) .
TABLE Il A — WEEKLY PAYROLL Coi. 1| Col. 2 | Coi. 3 Col. 4 Col. 5
Hf Wages are The AMOUNT to be WITHHELD is the SUM of: i(s 093 7.50|5 .00 PLUS 2% lexcuss over | 3§ 0
(after deduction 2| 7.50| 19.00| .18 ” 3% " y 7.50
and eaemptions)| This ’ 3119.90 23.00 50 ’ 4% " [ 19.00
o A,‘““m '!.-'::'n of Wagns 4al23.00 | 27.00| .65 " 5% " ” 23.00
inel At [Butless | {rax- | PLUS| This oF b 5]37.00 | 34.80] 85 [ © &% [ " 27.00
No.|Least | than | lower Parcant. over ot 83430 | 42is0| 131 | - 7% » = | - 330
reckets) 7la230 [ sz.00] 1as | * TN 42.50
Col. 1{ Col. 2 | Coi.3 Col. 4 Cal. Basch | SLSuj === | ¢ %) - " $2.00
I $ 0|8 38 $ .00 | PLUS 2% | ExcEss ovm $0 9[©1.50 [and ue 348 " il N i 2 —
2 38 96 i 4 " 3% "~ " 3a )
R = = | = o k- ANNUAL TAX RATE SCHEDULE
5| 135 173 3.23] =» 6% - 138 1T ANNUAL The ANNUALIZED TAX is the SUM of:
6| 173 | 212 834 u % . 173 bbbl
7] 212 | 260 923] = % ra— 712 . |_exemetians) ' A and
8f 260 | 308 12,08 « 9% ' 260 Linej At [Butless | This pLus| This " oF Ansuslizad Pay
@[ 308 | and up 17.40[ » 9,5% w oom 308 No.| Least | than |Amount Percent ) avar this Ameunt:
Col.'1} Coi.2 | Coi. 3 - Cal. 4 Col. 5
1| & o0f $2,000 $ .00|PLUS 2% |excxzes oven $ .0
2| 2,000| 5,000 40.00| " 3% - " 2,000
3| 5.000] &,000 [ 130.00] - 3% g o _ 5,600
4| 6,000f 7,000} 170.00) 5% " " 6,000
. 5| 7,000{ 93,000 220.00f " % . . 7,000
TABLE II‘B = BIWEEKLY PAYROLL - 6! o.000f 11.000 | 3s0.00( * 7% * " 9,000
1l S0 %77 $ .00 PIT.US 2% |(excmus ovem $0 7[11,000f 13,500 | 480.00 * 8% . ' 11,000
2 77 182 1.34 3% Lo 77 a2 J.EL!!OU 16,000 | 680.000 " 9% " " 13,500
3} 192 ] 231 s.00| - 2% o 192 d . . ‘9, " " '
il 231 365 . ina " i .o et 2[16,000]| and up | 205.09 9.5% 15,000
S| 269 | 346 8.46 | " &% o 269 _
6] 348 423 13.08}| 7% oo 346. The staps in computing the amount of tax to be witithaid are as follows:
71 423 319 18461 " B% oo 423 Stap (1) Dexermine the amount of deduction allowancs (from-Tabie A,
3| s19| 615 | 2618 9% i 519 B e A — otion (from Table 8
g 4 — ultiply the amount of one sxemption (from Tabie 8, on page
9| 615 [and up 34.a1 5% 615 . 14) by the number of exemptions claimed,
’ i {2) Add the amouni of daductions obtained in Step (1) to the
amount of axamptions obtained in Stap {2).

(4] Subtract the amount of deductions and axemptions obtained In
Stap (3) from the amployes’s gross wages. )

{S) Using the proper table in the Table || saries (depanding on the
particular payroll period), find-the appiicabie line an which the
wages after dsductions and. examptions in Step {4) are located in

) B columns 1 and 2.
TABLE Il C —~ SEMIMONTHLY PAYROLL (6) Subtract t'l';- amount in column 5 of this line from the amount
R ¥ wages after deductions and axemptions in Step (4).
i s 0| s 83 $ 00 |PLUS | 2% |sxcass avan % 0 '(7):olultinlv the remaindor abtained in Step (§) Dy the percuntage in
2| 83| 208 1.67) - 3% . a3 column 4 of this line.
d) 208 | 250 5421 = 4% noow 208 (8) Add the product In Step (7) to the amount in coiumn 3 of the
4] 250 292 7.08 " 5%- i 259 applicabie line,
5| 292 375 9.17 " 5% IS 292 {9) Muitiply the sum In Step (8) by 15% (.15). Th& product Iz the
6{ 375 | 458 [-14.17) » 7% T 373 City of Yonkers tax to be withheid for the particular payre'l
7] 458 | %63 | 20.00( - a% o 453 - S
8| 563 667 28.33 " 9% voon 583 .
9| 667 |andup | 37.71] ~ 9.5% woow 667 EXAMPLE }: (Waekiy payroil)
Weakiy gross pay of $400, married with 2 exemptions claimed
{1) Deduction aflowance (fram Table A, Page 14) = $43.25
(2) $16.50 (from Tabie B, page 14) x 2 = 333.00
(3) $43.25 + $33.00 = 376,25
(4) 3400 — $78.25 = $323.7%
{5) Une 9 of Table Il A Is appiicabie ($323.75 is avor $308)
(8) $322.7% — 3308 = $15.75
TABLE 11 D — MONTHLY PAYROLL g) ::5':5 * 9.5% (.095) = $1.50
} S0 + $17.40 = $18.90 (New York Stats tax to be withheid)
2 253 ‘.123 S oy NS §: s ey {9) $18.90 x 15% (.15) = $2.84 (City of Yonkers Tax to bs withhatz)
3 417 : [0 " "
H 30 ggg }_2:2; " g: o ;;: ) EXAMPLE 2: (Monthly Payrail)
T T T TR 5 —— - Manttly gross pay of $1100, married with 1 sxemption claimed
AESI S L 7:: .o ;:3 T (1) Cieduction allowance (from Tabie A, page 14) = §187.50
R RES T R AT = : 2 {2} $71.00 {from Tabis B, page 14) x 1.= §71.00
! » . . : oo 917 {3} $187.50 + $71.00 = $258.50
4 B35 11,333 | 56.67 9% L 1,125 {4} $1,100 — $258.50 =$841.50
2 P.33§ andup | 7%.42] - 9.5% "o 1,233 (5} Line 6 of Table L1 D Is apoticable ($341.50 13 betwesn
$750 and 3$917) ’
[6) $841.50 = $750 ~ $91.50
{7} $91.50 x 7% {.07) = $6.41
{8} $6.41 + $28.33 = §34.74 {New York State tax to he withheld)
(9) $34.74 x 13% (.15) = $5.21 (City of Yonkers tax to ba withheic)



